
  6 

  :

1.
 2.  
 3.  

 1.  

x =   (Mean) 
S.D.   =   (Standard  Deviation) 

 2.   (Simple  Correlation  Coefficient)
  (Correlation  Coefficient)   Pearson

 X  Y   X   Y
 ( .  2543 : 437) 

r =   (Correlation  Coefficient)
  r 

  2.1    r   X   Y   X
  Y   X   Y
  2.2    r   X   Y

X   Y   X   Y
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  2.3    r   1   X   Y

  2.4    r   -1    X   Y

  2.5    r  =  0   X   Y
  2.6    r   0   X   Y
 Level  of  Significant  =

  2   0.05 0.01
P   =   2

   P >  0.05    2   (No 
Significant Correlation)
 P  <  0.05    2
 P  <  0.01    2
 *     0.05
 **    0.01 

  SPSS  for  Windows  (Version
10)   3

 1 

  2
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41.25
33.75
7.50

-

82.50
10
-

7.50
-

80
16.25
2.50
1.25

-



200

  33  ( )

5.
  1,000
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